FIONEER FLURD POWER

HIGH PRESSURE GEAR PUMP
BKPO0.5
73T/ HOW TO ORDER
KL p H o5 i i) ag || B B || WMO&E || 0 m# || WER
' Front cover Rotation Size Shat Ports Ports position Seals Options
T T I I I
g5e P- E#R e iliaEesd 019
Series Pump Group Clackwise 0.26
il Eagad 0.38
Counter 050
clockuse 065 A Options
TERE | [ 075 —
Reversible T V-FEl -Directional valves
1.00
125 4%/ Drain
1,
2 Q0-Afe el
2'00 Q1-5MEBHE / extemal drain 25
: Q-5ERHEH | extemal drain G1/8
HWOGE Ports position
- D Onmit-Side inlet and side outlet
AR A-Front inlet and front outlet
B-RiftAit B-Back inlet and front outlet
C-FifHu C-Back inlet and side outiet
DA D-Side inlet and front outlet
R-EEH R-Back inlet and back outlet
e Seals

ER-REEEE-10C-+B0 C iR ARBANENA30ar,
V-ERTRENR, REEELE-10C-+20T,
H-ERFIRENR, BEEEE-40C~+80T,

T-ZR Tl 05 AL Eh3~6bar,

N-1% F F it OO K 474 13~ 10bar,

36/ Examples:

Omit-Range between -10°C and +80 T,inlet pressure up to max. 3 bar absolute.
V-Version suitable for fluid at hi-temperatures, range between -10C and +120°C.
H-Version suitable for fluid at low-temperatures, range between -40°C and +80°C.
T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.

N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

BKP0.5-B0-D-0.19-G0-L0-B=  JRtSHE, #E0.19colrev, BORIE, GOEEHM, L0 REHO, Fill, S

clockwise rotation, 0.19 cc/rev, BO front cover, GO tang shaft, setting ports L0 type, back inlet and front outlet (B), standard seals
BKP0.5-B1-D-0.19-G0-L2=  RIEHE, #E 0.19cofev, BI B, GORBEEM, L2 REMO, ks

clockwise rotation, 0.19 cc/rev, B1 front cover, GO tang shaft, sefting ports L2 type, standard seals
BKP0.5-A0-D-0.19-CO-L2-N=  iRY§ti%, HE 0.19 colrev, AO BT, COEEEbRM, L2 REMO, BERHN)

clockwise rotation, 0.19 cc/rev, AO front cover, CO parallel shaft, setting ports L2 type, high pressure seals(N)



HIGH PRESSURE GEAR PUMP

BKP0.5B0

. N [5%: G1/4 B4R 12, End cover: G1/4 thread depth 12.
p RERM, n.2 M5 BTHERTH To mount the pump, n.2 M5 screws,
: 54+0.5Nm. with a torque wrench setting fixed
at5.4+0.5Nm.
0 40
INLET OUTLET
95 M R
N n255 16
i4
A <] I I e v
LNe)
% e K B T %\
3 % = / = S al g - %WJ i |
{ip& ? )i@gj(w
55 \Qﬁ ==
75 50
AA
5%
ik HE EXEAN BERE BifHiE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions

BKPO.5B0-D-0.19 019 200 20 250 7000 1000 60 51
BKP0.580-D-0.26 0.26 200 230 250 7000 1000 60.5 51.5
BKP0.5B0-D-0.38 0.38 200 230 250 7000 1000 61.5 52.5
BKP0.5B0-D-0.50 0.50 200 230 250 7000 1000 625 53.5
BKP0.5B0-D-0.65 0.65 200 230 250 7000 1000 635 54.5
BKPO.5B0-D-0.75 0.75 200 230 250 7000 1000 64.5 55.5
BKP0.5B0-D-0.88 0.88 200 230 250 7000 1000 65.5 56.5
BKP0.5B0-D-1.00 1.00 200 230 250 6000 850 66.5 57.5
BKP0.5B0-D-1.26 125 200 230 250 5000 700 68.5 59.5
BKP0.5B0-D-1.50 1.50 200 230 250 4000 600 705 615
BKP0.5B0-D-1.75 175 180 210 20 4000 600 725 635
BKP0.5B0-D-2.00 200 160 190 210 3000 500 745 855




BKP0.5B1

HIGH PRESSURE GEAR PUMP

G1/4 B4R 9. G1/4 thread depth 9.
RERM, n2 M5 BTHREETA To mount the pump, n.2 M5 screws,
54105 Nm. with a torque wrench setting fixed
at54+0.5 Nm.
il i |0
OUTLET INLET
95 M 2
N n255 16
L
ol 2 /,ft?‘x.\
1
<) N (N €}( o 5
| E | x& % %;ﬁ ] . N N
— um_, g SEa A ¥ S ek =
’ "R
§ \C}lﬁ
Gi/4 50 G1/4
AA
5%
bt #8 BKEA fRkE BiE#E R
Type Displacement Max pressure Max. speed Min. speed Dimensions
BKPO.581-D-0.19 ; 200 230 250 7000 1000 60 51 212
BKP0.581-D-0.26 200 230 250 7000 1000 60.5 515 25
BKP0.5B1-D-0.38 ; 200 230 250 7000 1000 61.5 525 2
BKPO.5B1-D-0.50 200 230 250 7000 1000 625 535 285
BKPO,5B1-D-0.65 200 230 250 7000 1000 635 545 29
BKP0.5B1-D-0.75 0.75 200 230 250 7000 1000 645 855 25
BKP0.581-D-0.88 0.88 200 230 250 7000 1000 855 5.5 30
BKP0.5B1-D-1.00 1.00 200 230 250 6000 850 66.5 575 305
BKP0.5B1-D-1.25 125 200 230 250 5000 700 685 595 15
BKP0.581-D-1.50 150 200 230 250 4000 600 705 615 325
BKPO.5B1-D-1.75 175 180 210 230 4000 600 725 635 335
BKP0.5B1-D-2.00 200 160 190 210 3000 500 745 65.5 345




BKP0.5A0

fRg&: G/4 §4R 12.

ZERH, n4 M5 BTRERTER

HIGH PRESSURE GEAR PUMP

End cover; G1/4 thread depth 12.

To mount the pump, n.4 M5 screws,

. 54+0.5Nm, with a torque wrench setting fixed
'o -~ S0 M6 B HEREN 7 N al54:05Nm.
Q’ = Shaft M6 nut, with a torque wrench
. _’ - setting fixed at 7 Nm.
9
#in {0
INLET OUTLET
21 M 16
8 8 5 1.l §66
/N \
KA - \
& ;
88| _ — \@Q@g}(
i’j’ = = -
5 -“5.._ = T e e L {:3 % o ), 1
A ) T
e b bl
\ |
N
A-A 4 12 5;,
2—%.014
#6501
il HE EXEA BEkE e R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
 BKPOSADD019 0.49 200 20 250 7000 1000 60
BKPO.5A0-D-0.26 0.26 200 20 250 7000 1000 60.5
BKPO.5A0-D-0.38 0.38 200 20 250 7000 1000 61.5
BKPO.5A0-D-0.50 050 200 20 250 7000 1000 625
BKPO.5A0-D-0.65 065 200 20 250 7000 1000 63.5
BKPO.5A0-D-0.75 0.75 200 20 250 7000 1000 64.5
BKPO.5A0-D-0.88 0.88 200 20 250 7000 1000 65.5
BKPO.5A0-D-1.00 1.00 200 20 250 6000 850 66.5
BKP0.5A0-D-1.25 125 200 20 250 5000 700 685
BKP0.5A0-D-1.50 150 200 20 250 4000 600 705
BKPO.5A0-D-1.75 175 180 20 20 4000 600 725
BKP0.5A0-D-2.00 200 160 190 20 3000 500 745




HIGH PRESSURE GEAR PUMP

BKP0.5A1

@ G1/4 G4R 9. G1/4 thread depth 9.
] RERRA, nd M5 BTHERED To mount the pump, n.4 M5 screws,
. 54+0.5Nm, with & torque wrench setting fixed
° {8 M6 REHEREHR 7 Nm, at5.4+0.5Nm.
Shaft M6 nut, with a torque wrench
setting fixed at 7 Nm.
\ " - :
(4]
ik A g |n|
OUTLET INLET
21 M
L 16 12 4
8 8 | 5 1.1 #66

| -5
&
\

N

S

[

M
(
yrar)
\ \L/y
53
8
6
|
A

T
7.32
%\d
r_\ g

G114 A \ \I_/ G114
2—%.014 50
s £
g #6590

ot HE BXEN EEsE BifHE R

Type Displacement Max pressure Max. speed Min. speed Dimensions
BKP0.5A1-D-0.19 0.19 200 230 250 1000 60 272
BKP0.5A1-D-0.26 0.26 200 230 250 1000 60.5 215
BKP0.5A1-D-0.38 0.38 200 230 250 1000 615 28
BKP0.5A1-D-0.50 050 200 230 250 1000 625 285
BKP0.5A1-D-0.65 0.65 200 230 250 7000 1000 63.5 29
BKP0.5A1-D-0.75 0.75 200 230 260 7000 1000 64.5 25
BKP0.5A1-D-0.88 0.88 200 230 250 7000 1000 65.5 30
BKP0.5A1-D-1.00 1.00 200 230 250 6000 850 66.5 30.5
BKP0.5A1-D-1.25 1.25 200 230 250 5000 700 68.5 315
BKP0.5A1-D-1.50 1.50 200 230 260 4000 600 705 325
BKP0.5A1-D-1.75 175 180 210 230 4000 600 725 335
BKP0.5A1-D-2.00 200 160 190 210 3000 500 74.5 345




HIGH PRESSURE GEAR PUMP

BKP0.5B2R-VQ1

. Fis: G1/4 8§47 12 End cover: G1/4 thread depth 12.
i = RERE, n2M5 BTHERTH To mount the pump, n.2 M5 screws,
)_\ - 5.4£0.5Nm, with a torque wrench setting fixed
U i at54:05Nm

QQ'

&,0,

#imA Hiwn

INLET QUTLET
2 95 M

Gild N 16 16

55n2 |4
A 2
o~ (oL}
N (N 5T : T m _\

[T
—\\_
®
2
|
|
M
\
%
©

98
_‘..Il
A
\.|./
@
@
S
[
—
3
I
( o
Wi

5.5n.2
50
9.6n.2
78 A
st
i #E BXEN REkE REHkE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions

BKP0.582-R-0.18-VQ1 0.19 150 170 190 7000 1000 68 51

BKP0.5B2-R-0.26-VQ1 0.26 150 170 190 7000 1000 68.5 515
BKP0.5B2-R-0.38-VQ1 0.38 150 170 190 7000 1000 69.5 525
BKP0.5B2-R-0.50-vQ1 0.50 150 170 190 7000 1000 705 535
BKP0.5B2-R-0.65-VQ1 0.65 150 170 190 7000 1000 715 54.5

BKP0.5B2-R-0.75-VQ1 0.75 150 170 190 7000
BKP0.5B2-R-0.88-VQ1 0.88 150 170 190 7000 735 56.5
BKP0.582-R-1.00-VQ1 1.00 150 170 190 6000 745 515

1000 725 555

1000

850
BKP0.582-R-1.25-VQ1 1.25 150 170 190 5000 700 76.5 59.5

600

600

500

BKP0.582-R-1.50-VQ1 1.50 150 170 190 4000 785 61.5
BKP0.5B2-R-1.75-VQ1 1.75 150 170 190 4000 80.5 63.5
BKP0.582-R-2.00-VQ1 200 150 170 190 3000 82.5 65.5




HIGH PRESSURE GEAR PUMP

BKP0.5

11

AZ/FRONT COVER HfR/SHAFTS
® 4 95 21
n255 " T 8 8
Py r M "
Na7a NE, S | =
8 NP = ; = !
260 H P 22
%;/ 33 : 55 I
< 2
B0 L GO0 )
RAHE BAHE
Max.Torque 10Nm Max.Torque 8hm
2 95 21
n255 8 8
A r M "
NA7aD\ 8 | =
s gt [N\ = ,r < .
£ D I I
< 2
B I )
RAHE BAHE
Max.Torque 10Nm Max.Torque 8Nm
L 95 21
AV 8 8
2 [ 1
¥ D@( N S i1 B
s ) = : =
MGET A |
- \ o = ;_d 55 i gl <
&/ 5 L -
< 2
A L GO )
RAHE BAHE
Max.Torque 10Nm Max.Torque 8Nm
n266 i "
8 8
M )
B ¥
Ol 55 r gi=
< 2
L GO0 )
BAHE mAHE
Max.Torque 10Nm Max.Torque 8Nm




HIGH PRESSURE GEAR PUMP

BKP0.5

i /PORTS
- iR ##A )
TYPE INLET OUTLET
BKP05..0.19 + BKP05..200 M10xt M10x1
1O i
. R ##A )
BKP05..0.19 + BKP0S..2.00 G4 955
1O i
AR ##A ul: )
TYPE INLET OUTLET
BKPD5..019 + 605,20 G 955

)

E Ll i) tHi#n
TYPE INLET OUTLET

BKPO.5..0.19 + BKPO.5..2.00 G4 G4

12



